[ R 77 42 AR A 4 4%

() IX—5=—x+9

() 44+6X=8x+3

(3) —T74+6x=—x+1

(4 9x+6=4—6X

(5) 7T—8X=T7X+2

(6) —1—8x=—9+X

(M 4X+8=—3x+1

(®) 3—4X=—946X

() —7TX+2=6—2X

(10) IX—T7T=7X+9

(1) —2X—3=94X

(1) 8X—6=8+5x

(13) —8—bx=—9—4x

(14) —2X+7T=—7Xx—4

(16) 84+3Xx=4x—+9

(1) —2—=bx=7—2X
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I RF AR EZE (BEE)

IX—5=—x+9

44+-6X=8x+3

—7+b6X=—x+1

OX+6=4—6X

1 —8x=7x—+2

—1—8x=—9+Xx

AX+8=—3x+1

3—A4x=—9+6Xx

—7IX+2=6—2X

IX—T1T=T7x+9

—2X—3=9+X

8X—6=8-+5x

—8—5x=—9—4x

—2X+[(=—7x—4

8+3x=4x+9

—2—5x=7—2X

X=7,/4

x=1,2

x=8,7

x=—2,15

x=13

Xx=8,9

X=6,"5

Xx=—4,5

none

Xx=—4

x=14,3

x=1

x=—11/5

Xx=-—1

Xx=-—3



